E I

i

R =

ARIZHLEEFE

ANRIERIEEFRE(ZDT)

;;It Bla 7 & 4 2 B F ; 108$304)

15 AT TE25E2EREE
AfE g & ' F wo =

A#H % 4

CI=Eegers 18,000,000
EBEBRER) 13,500,000 | 4% %
s 12.990000| hmmmogem: |
BAEE 18,300,000 el ey escomr ol
HEmEE 15,700,000 2P ELE
HHYS 13,560,000 | 4% 15290000 m ||
A 13,900,000|v %l 75.9%
Fh/EE 15,000,000
AR TS 13,480,000 | 4%
B AR AL B 508 18,000,000
¥ £ f # 18,324,000
2 E # B % 13,718,000




£

#l

i

ES

=

ARIZHLEEFE

B T HFEEMEBREXRBREED)

;;I'l: w4 1 7 & 4 A 24 B cFZ 1085404
15 AT TE25E2EREE
AfE g & ' F 17
AH & @
RS 7,720,000
BARBH) 6,390,000 #
W 5390000
HARLE 8,770,000 el ey escomr ol
HARSEE 6,240,000 (v %#L 71.1% 2P ELE
e mEE 6,700,000 6,864,000
ERER 6,390,000
#IHYS 6,320,000
2 6,090,000/ %4
Fh/EE 6,470,000
) BE 6,350,000
HEAMEBRTE 7,300,000
HE—ER 8,780,000
() B T8 7,430,000
¥ oz M@ # 8,780,000
8 H B E B 6,193,000




£

Ll o R =

AT LEFE

mEERAL 1 SRS TR B0 E R TE R5T

. %% % 7 % 4 B 24 B cF(g 1085504
15 R r&25E2BRE=E
A B K A 1 E i =

AW &8
(¥R B HE 6,860,000
RAEE 6,750,000 # =
(BREARER T 6,800,000 ﬁﬁ&%ﬁ%@%‘%}iﬁ%ﬁ?ﬁ; |
FRERLT R 6,730,000|v %&#L 98.0% %gﬁ?gﬁ?gﬁ;ﬁkﬂ
FEARER 6,850,000 2T ELHE

7403000 m |

¥ Z i} % 6,869,000
& B # R M # 6,118,000




